ME-37

MODEL EXAMINATION, MARCH 2021

Part — III Time : 2 Hours
GEOGRAPHY Cool-off time : 20 Minutes
Maximum : 60 Scores

(Map Accompanied)

General Instructions to Candidates :

a0l dbon)as Oalomidegremdd :

There is a ‘Cool-off time’ of 20 minutes in addition to the writing time.
Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Malayalam version of the questions is also provided.
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Answer the following questions from 1 to 39 up to a maximum Score of 60.

Questions from 1 to 6 carries 1 score each. (6x1=06)

1. The concept of Human Development was introduced by
(A) Dr. Mahbub-Ul-Haq (B) Thomas Malthus

(C) Griffith Taylor (D) Semple

2. The name of farming operation in which farmers specialize in vegetables only is known

as
(A) Jhuming (B) Viticulture
(C) Truck Farming (D) Milpa

3. Identify the mining method to mine the mineral ore from deep below the surface.
(A) Open-Cast Mining (B) In-situ Mining

(C) Open Pit Mining . (D) Underground Mining

4. Urban agglomeration received the largest number of in-migrants in India.
(A) Chennai ' (B) Varanasi

(C) Greater Mumbai (D) Patna

5. The highest literate state in India
(A) Kerala (B) Mabharashtra

(C) Tamil Nadu (D) West Bengal
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6. An example of metallic mineral is
(A) Mica (B) Iron

(C) Graphite (D) Limestone

Questions from 7 to 14 carries 2 scores each.

7. What is environmental determinism ?

8.  Mention the use of population pyramid.

9. Classify industries based on output.

10. What is Quaternary activities ?

11. Define Positive Balance of Trade.

12. Identify any two functions of an urban centre.

13. What do you mean by life time migrant ?

14. Write any two local names of hamlet settlements in India.
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15.

16.

17.

18.

19.

20.

21.

22.

23.

Questions from 15 to 25 carries 3 scores each.
Answer the following :
(a) Crude Birth Rate
(b) Crude Death Rate

(c) How Crude Birth Rate is calculated ?

Write brief note on the following :

(a) Natural growth of population

(b) Positive growth of population

(¢) Negative growth of population

List out three basic aspects of Human Development.

Write down the characteristic features of shifting cultivation.

Name any three Trans-Continental Railways in the World.

Briefly explain the merits of Air transportation.

Write the branches and speech areas of Dravidians Language.

Write the examples of ancient, medieval and modern towns in India.

Match the following :

(A) (B)
Kharif | Wheat

Rabi Vegetables

Zaid Rice
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24,

25.

26.

27.

28.

29.

30.

31

32.

33.

34.

35.

‘Irrigation is necessary for Indian Agriculture.” Explain.

List out any three advantages of Non-conventional energy resources.

Questions from 26 to 35 carries 4 scores each. (10 x 4 = 40)

Explain the geographical factors influencing the distribution of population.

‘Write the first two stages explained in Demographic Transition Theory.

Write a short note on the impacts of population change.
List out the features of Plantation Agriculture.

Write down the advantages of Road transportatfon.

What are the consequences of migration ? Explain any one.

Some of the causes of migration are given below. List them as ‘Push’ and ‘Pull’ factors

of migration.

(Poverty, Better wage profession, Earthquake, High health care facilities)
How the Census of India classified the Indian towns on the basis of population size ?
Write a short note on conservation strategies of mineral resources.

Write down the locational factors of Cotton Textile Industry.
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Questions from 36 to 38 carries 6 scores each. B x6=18)

36. What is Human Development ? Explain the pillars of Human Development.

37. Describe briefly the following human activities :
(a) Nomadic Herding

(b) Commercial Live-stock rearing

38. Explain the features of any two types of Rural Settlements in India.

39. Identify the following Geo-information and locate them on the given outline map of

India. Each carries 1 score. Ix1=7)
(a) Largestout Migrant state

(b) Location of first geothermal energy plant

(c) Largest Bauxite producing state

(d) Indira Gandhi Canal Command Area

(¢) National Waterway 3 (N.W.3)

(f) A port at the enfrance of Zuari

(g) Asia’s largest slum
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